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8.2 PART 2
MULTIPLYING POLYNOMIALS

Multiplying Binomials
and Trinomials

To multiply

a binomial Ll l é
by a binomial,

you can use the ( X + 4‘ (x )

FOIL Method. | | ‘

(3x + 4)(x - 5)

(3x9(x) + (31 (-5) + (4)( + (4)(-5)
FIRST 3 + -15x + 4x + -20
OUTER 3x° +\ii/ + -20
— x —
INNE |

LAST 3x -11x-20
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Use the FOIL method to find the product.

\g =] ]
1. (4x +“_1_)(__gx —})

= o - L
(32 %) + URED) 4 (NEX) + (E3)
ox? E_Sx + Zx [E3T3

Use the FOIL method to find the product.
‘ [ 1 )
2. (x- 5)(6x-7)
A S )

(x{(éx) + (»OO(— ) + & ‘5\:)‘-290 + (‘5316‘?9
eX [E_T7x E_Pox+ 25

ox> — Fx T %X + 35
\\/Y\/

bx* —-2#x + 35
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Use the FOIL method to find the product.
4. (3x+ 11)(@x+ 7)
o |

(30 H(RAD 4+ AN +— QA
X 4 2% - Wy + FF-

\Z>* + 65X + 237

Use the FOIL method to find the product.
) ny | )
3. (8x-3)(2x+ 1)
A Sy )

(BAE) +@AD+(2) 2+ SOV
l6x* + 8x B=Fex 33

X ¢ BX _—6X 5
o +2x —3
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You can also multiply
two binomials
using the
distributive property.

Recall from Chapter 2,
3(2x - 5) becomes 6x - 15.

5. x(3x* + 6x - 8)

6. -3x(2x° - x + 4)
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Use the distributive property to find the product.
(x + 2)(x - 3)
(x + 2)(x - 3)
x(x-3) +2(x-3)
x() + x(-3) + 2(x) + 2(-3)

X + -3x + 2x + -6
~ —
X+ -1x + -6

X-x-6

Use the distributive property to multiply.

7. (x-2)(x+4
Z O£ —%@-ﬁ

XeX +%X-4  —2-XE J2-4
X* T 84X =X — D
X 2K —9
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Use the distributive property to multiply.

8. (2x+ I)(x+ 2)

2@2} +®)

Ix-% + 2x-1L + "X+ 12
z + X + 2

Ix2+5X+ 9

Regardless of whether
you like the FOIL
method or the
distributive property...
you MUST use the
distributive property to
multiply anything
larger than binomials!
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Use the distributive property to multiply.

9. (x+4)(xX-5x+7)

(x + 4) (o - S5x + 1)

x(3@ - Bx ¥7) + 4(° _\5?7)
X‘Xa — X*5x + X Y- x? — Y-5R +4-F
x? [= x4 [+ # = 4x3[= 204 +28

x3 — x* —I13X + 2%

Use the distributive property to multiply.

10. (x - 3)(3x + x - 4)

B — 2 Gk —4)
K52+ XoX— XY —3-5x" ET3- x==3 -y

23 [+ xT = Yx|[=9¢ (—2x|+ 12

3> —8x* —FX + /2
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